1. A (Gl vad1 viadl A AqAs WHiel WAL 52 B Vid €0 (mass)di A uRewrdl And B. endd AR UL
3.0 art 3. <A Nl uRerdla JuaRrR sA [([Aeuel AR denAn ?

(QsueilAl | uReun |/ vadisel
(i) (ii)
A 3.01 2.99
B 3.05 2.95

A) oid el uRaus uRys 3 2Assu el
B) el Ad wReud 2Aissu 2t uRys 9.
(C) [zl B ulRoum uRys A4 2Alssy Al
(D) [euell B uReuw 20553 29 uRyg (6i4) &.
oaict (B) [enel Ad wReud sy 24 uRys ©.
m o [Azel A Q) duadia uResd Wi yed

A_301+299 6 __ 0
2 2
w [azel B a) duada uReMd uiue Hed
g 30+29% 6 .4
2 2

WY wallbs ye 3.00 8.
w6 Qe[ odg wAlBls Yo WAl yeudl ay dms 9. vl sidq yell Alssyu (accurate) 9.

o [aiel A gy Haadl weElBis yed sisella-dl 4ws 9. (3.01 vi4 2.99 4zl dslad el 0.02 Fedl 9.) 2
yeu Al yeurdl qws ¢, dell B [aael4 waibs yedl sisollaa-dl ams @, (3.05 v 2.95 424l aslad
0.1 Fedl ©.) 2l »u yed uliye -,

2. s @S Feiéledi dmdiiel 200 °F &la dl AlQRRei doi dtiel 52d & ?
(A) 40 °C (B) 94 °C (C) 93.3°C (D) 30°C
gaiel (C) 93.3 °C
o dlUMIA, HUsH Rl iz °C (R, 3dle OF aiA K & wa quud 9. (K, ST Asy §.)
w6 FAdAl dluMiAadl el A adlsel o suldl wusu o,

5 9
°c =§(F—32) M| °F:gt°C+32

o Buadl wlszRMl Yl Ysdi,*
asleus uallsam

C:é(F—32) °C=§x168
9 9
5 N
C =§(200—32) °C = 93.33 al@uy

9
*200-32= gt"C



gtC’C =168
5

o _ 168 %5

=93.3°C 3[Ewuy,
3. 5.85g ad NaCly, 500 Bidl. giaepii 2AA &lA AR giaeldl MRl Sedl A ?
(A) 4.0 /(. (B) 20 Hi4/&. (C) 0.2 Hia/&. (D) 2.0 Hia/la.
eact (C) 0.2 Wia/a.
moglagHdl eI (M) e we A wdlse qura 9

us el aart x 1000
2R x [Hel 1l glasidealda se

Wi =

5.85 x 1000
58.5x 500

= 0.2 Mie/ld.
Al :oglaeHdl daRAd e diuH GUR MR AN 9. SRR 3 glaltd 58 dlui GuR R 9.

4.  As upri 500 Fidl. 5 WAk gwgel ada dq 1500 Gidl. el e sapii A dl e 2Adl alaeledl
NalRél (M) Sedl ad ?
A) 1.5M (B) 1.66M (C) 0.017M (D) 1.59M

qdiel (B) 1.66M

WA, M, = 5M

V, = 500 (el
V, = 1500 [¥ell
M, =M

e [ wRend el el ERAY yer A wdlsa ad daay 9
MVy = MV,
(e udal) (s usl)
500 x 5M = 1500 x M
5
3
5 S1d uel dwett 1 Ma Fedl wvearni usieRidledl ivan AR vis Fedl Ha V. ofAowiicll s aw
uHIRRAlell HEaH RAven aRnad &A ?
(A) 4 M He (B) 46 A Na (C) 0.40 M Ca (D) 12 M He
qaiet (D) 12 A1 He

- M=—=166M

i Hl AW BUAL wsuMedld drdldl Al %R 2HIR Hla dual dell.

4 ad He-l #ia v = %:1 Yie
N 46 -
46 a4 Na-l Wla dvwil = 5:2 I
. 0.40 .
0.40 wH Ca-ll Hla vy = W:O'l Hle
. 12 -
12 a1 Hedl Hla sdvyl = I:3 E]

o Guzoeadd oadl MGl 12 WM He HMedH uiigal-l v vud 9,

6. N Ak 2dgsbiel Aigcal (CH,;,0p)o wuer 0.9 2 @22l Ala A Adli dIGai (=_ai) 2d syl
NaRdl (M) Sedl & ?

A) 5M (B) 50 M (©) 0.006 M (D) 0.5 M
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10.

(C) 0.005 M

ALUAL UsAHE 0.9 3 R ogsiodl dldldi disdl sua o,
0.9
180
= 5.0 x 1073 Mid 2gsin

agsiodl Wiaval = 0.9 UM gLy =

(sg Qi wedlusn = 180 1 )

22d % 1 [&eR glamdl 0.05 Md 2G5 Hondl © wadal 2dal sgsiadl wialzédl 0.005 M .
500 2ue1 weilni 18.25 a1 HCl ary ad1didl &2 dl gideicil ARl enel.

A) 0.1m (B) 0.01 m (C) 0.5m D) 1m

D}y 1m

1 Getlaus glasul aiesdll »lo0a Hid v Hdldd se o a4 m’ dsi 93 salan §.

glodsil Hl Q.
CHafad m) = m
24,
slas (H,0)d e = 500 AM = 0.5 [5.204
HClq, a%+- = 18.25 34

HCIHL 2aedly ™12 = 1 + 35.5 = 36.5 M

18.25 _

HCIHH Hig dval = ———=0.54id
36.5
0.5
m=——=1m {yqe
0E {({laa)

As Na uerli 6.022 x 1023 fean uHIRRA [ dieRd vdal @ d 0.02M H,SO0,0n 100 Gidl. siaepii
&dl el Riva .......... 9.

(A) 12.044 x 1020 »18,  (B) 6.022 x 1023 18,  (C) 1 x 10%3 1y, (D) 12.044 x 1023 2y,
(A) 12.044 x 1029 g,

SIS u uglHl 1 Mld Fedl Ml 6.022 x 1023 uzHug [ »g eld ©.

wed 5 H,80, 0 Brellsliani 2iva

= el x st ((udl.)

= 0.02 x 100 = 2 [RdlHia

=2 x 1073 Hid

Mgl Aval = Hlaival x BB s

2 x 1073 x 6.022 x 1043

= 12.044 x 1020 2921l

CO,Hi si6lotoll el % WL S2d ?
(A) 0.034 % B) 27.27 % G 34 % (D) 28.7 %
® 2727 %

CO,q 2usdluea 44 i 6.

CO,mL 25 WH 2AYHL Cil 25 AM UMY 8.

s 44 WM COLML SI6i UMY, MHIGL 1 M wHIY %2d, el
oo 44 M CO,g 12 M uHgy sisfu el

e 12
% COLML sleig Wua = EXIOO:ZU? %

Hed 5 COML sielig % WwQL 27.27 % edl.

Aqs siwollas iAvolol wiierias 1 CH,0 8 dial doi diedlren 180 apt B. idAdlvolsi duedRri s
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13.

dliGl

1l

llimp

& ?

(A) CqH,40, (B) CH,0 (©) CgH,,04 (D) C,H,0,
(€) CeH;,04

UHIRRYASs Yoo CH,OL 2R

gil dRdil = 12 + 2 x 1 + 16 = 30

aiedlugol = 180

wledlusy 180

= = =
WMIAYAS Yole 30
visdld Yot = 1 ox UHIRYAS Yol
= 6 x CH,0 = C4H,,0,

A glaeioll deict 3.12a131 B! &2t A 1.5 Gidl. glaer w2 vlyas vis ealdl.

(A) 4.7u1 (B) 4.680 x 107313 (C) 4.680 A (D) 46.80 AM
(A) 4.7 34

gl dddl = 3.12 amfBdl L 9.
glavld, s& = 1.5 [dl.
glalld e = 5% x Eridl
= 1.5 [dl. x 3.12 wsBdl-! = 4.68¢

151 2is Mz oL 22(ys s 4Ad 9. w0l dAl s uel o) 2203445 2isul 2hadl dda. el 4.684
o @s2 wisHi Fradl Alse 2is 4.7 wHHl sl usia.

spefl dedl wast 4.7 WM 9.
As dAMwel HR oot [GeuclHieil s [Aeuct ARE ot2il ?

(A) ALYl Y %ei-%el drelldl YAV 1A €9,
(B) Adl%t drll 825 drellel uHIgpiMl ¢lilds uglavil a3 [Qeulyd ws asd «ell.
(C) dulo- d-l v2si-l ¢lifas el aadl A ©.
(D) ddlul eal [Alay drldl wHgl Rl MEd ¢ld 9.
(C) 2l d-il vesi-l olifas el andl v o,
AALFHL 6L Al QIR dredl A 284l ¢l 9. Aqdl Yo velel 9 Ful sud wel [Ed ¢ld 9. dd
oy s uglael [@Qued 21n 8 24 [MlEd ea sadl w25l gel Ul 9.
Ayl ALl Qs dril 825 drelil Rl sl wedl ¢ld 9. eld., H,0 (well) H 2 O drdlyg otria
8. H 214 O visoflog 08 MR wuemi cdsdal 9. uig H,O0- el H 24 O sl sl dert
A 9.
uNdl ulsam 12 <A eAlddi [Aeucnieil sai wRAI S ?
ulsan : 4Fe ) + 30, — 2Fe,04,
(A) uBusiul Fe vt O,d gaenl = luw-l Fe 24 0,7l sdeol %ed o.
wogdAUAlL [HaH w9,
(B) ulbusid saen = dluw-l vesld 54 en
sooLRLs MRl [Rud ouy 6.
(C) Fe,0q (luw)d wiel Fe tual O, a4zl 1l a4l ud 8.
(D) Fe 224l O, SIS gl 25l asi A8 -luy Fe,O4r w8l s2dl.
(A) uBusiui Fe v+ O, gaeo = -luw-l Fe »id O, gaen ¥ed ©.
osoddAAeAl [AH v 69,
g AuAAl Fam Yoo uBusd ga en = luald g4 su
Fe,0,q g Al uBus o3 Assl a8,



14. <l AFAAcl (o1 ollAell sd ulSarRui vodidl il ?
(A) 2Mg( + Oy — 2MgOy
(B) C3H8(g) + OZ(g) - COZ(g) + HZO(g)
) P4(S) + 502(g) - P4Olo(s)
(D) CH4(g) + ZOZ(g) - COZ(g) + ZHZO(g)
el (B) C3H3(g)
o o{la wMlsvaMl,
C3H8(g) + 02(g] — COZ(g) + HZO[g)
44 3K 32 M 44 AH 18 AN

+ OZ(g) - COz[g) + HZO(g)

ubusid o = luedsd ea

wogen AU [Had o woudal Al
15.  clRlcpiiell s [Atuot deis wielel [oi youa & Ax eaald 8 ?

(A) s el Alduidl dlaar CO, wyHi C it Od wHweL 1:2 eld §.

(B) sioft i[5yt A AdlWS CO sl CO, #H 6L UsRAL 2isA08 Alogetl otrid 8. FHL siol w0l
Aidal iRy, eo 2:1 Fal Alsl deld 4 sulay 8.

(C) wux Mgd, [l slaldl s 2wy 8 AR u3xuddl dlaal Mgd awt MgOul wadl Mg %ed
o Gy 9.

(D) a0 diusi i seidl 200 (el Hy, 100 (el O, 18 2iysd a6 200 Bdl. wel-l @ (H,0) o-id €.

qael (B) s 2[5 wd AUAS CO »4 CO, 2H 6L 2Al50Ss A%l oud 9. FHL siel wd Adal

wWilsUwedd e 2:1 Fa wel sid @ safan 8.

o slold (C) drt s WA 2AYsd A5 CO, 2l CO strud 8. COLML so{rAl 12 suien 2Ai[Suy-t-l 32
MOEYL AR AU B, FUL COHL s1elHAL 12 a12180 5L 16 GO0 Al Aud 8.

oS g0 12 eyolen sleld el Ay 8.

sofn | 2iFUg1 | iR
CO 12 16 1
co, 12 32 2
Wl CO »d COML Al dwdly Wil 1:2 8. % 38is wuart [asg a4 2l 8.




